Unit 3
5.NBT.7
Multiply Decimals

Multiply Decimals                                                          

A. Multiplying decimals can be modeled using a grid box.

1. Shade the model in the response box below to help you find the product.

0.4 x 0.8.    What is the product?

2. Use the model below to solve this equation. 

Explain how you found the solution.  
                                                  0.3 x n = 0.18
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


BE SURE TO LABEL YOUR RESPONSES 1 AND 2

Rubric for Open Response 

	Description
	Points
	Correct Answer
	Student Score

	1. Answer
	1 point
	Answer = 0.32
	

	1. Answer
	1 point for shaded grid
	
	

	2. Answer
	1
	Answer: n = 0.6
	

	2. Explanation
	1


	Answers may vary

I saw that 3 of the vertical sections were shaded to represent 0.3 and that 18 squares are shaded twice, which equals 0.18.  I had to find out how many of the horizontal sections were shaded. My answer for horizontal shading is 0.6


	


	Off Task
	Below Basic
	Basic
	Proficient
	Advanced

	0
	1
	2
	3
	4
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Answer = ______________________








Explanation:
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